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1. &@%A%Ef%iﬁﬁf\é ﬂ‘/’CiéJd: 3. kOHE A BIZHOVWT ANBAUB%AXKRD X,
Express the following set by listing the elements. FindAN Band A U B.
v En LT avEw bA D
pitE A={x| x50 FoakEK | f5i i
:{ |xlsnaturalnumberlessthanorequalto:S} @A:{I,Z},B:{Z,?)} @A:{1,2,3},B:{3}
:{/,2,3,4,5} A B A B
B = {x|x iIE@ZO){—L%I }
:{ |xls positive multlpleZ} AN B 3{%%&’2{ AN B
:{ 2,04, b, &, e } 7{2} intersection
¥ o
= ~ N b L))
C_{x|x.6i1.100-if0)50){%z} AU B 292 | aus
7{ |x1samu1t1p1e of 5 from 1 to 100} union
={ 5, 70, 75, 20,+++,700 } =729}
L T) — — — —
D={x|xHEDUOHE ) onnm @A={1,2}B={34} |@A={1,2},B={1,2}
:{ |x1sapos1tlve divisor of 24} 4 B 4 B
/72 3 4
={ 7, 2,3 4 6 8 72, 24}
ANB ANB
bA L woB L EATH <HLws )
HE A={x|x1Z 10 FoH } = o T 4 &
empty set
AUB AUB
L)
B={x|xHED30EHK | ={7,2,3,4}
E Lwd )
s 4. ADH £ A A Ef%iéﬂt’\é TF/’C%J@:
C :{ X | x1X1~100F TD 3 DfF %I } Express the complement of A by listing the elements.
A E bA B
151 /A i 74
N 2T Fh L) D9 EAEW LY S 5
D={x|xiZED 120% } % % Uk A
U={1,23 4} U={24,6,8]
A={1,2] A={438]
L)) RN bbb U U
2. /k@ﬁé\@%ﬁ%i%ﬁ‘ﬁ%i%@éb\ A A
Scribble the relation of the following sets. @ 3 4 Q
av D LA D
{5 e - -
A= {34} A=
5. KOANYHICHENT, F-ELHY OEEZ R,
Show De Morgan's law in the following Venn diagram.
A E bA RN
151 /A il &
L - - L
AﬂB AUB#%7 %, AUB=AN B %54,
U
B A B A B
ry % ry %
@1ITADHERE @ 21X BDOHEFHR
1 is an element of set A Z*{ 3y } Z*
/I €A, A>3/ _ _
ro % ro % B:{ I 4 } B =
@D1EFTBOEFETRY @OLIFTADOHEETRN o o
1 is not an element of set B AQB:{ 4 } AUB=
/=X B, BR AuB={7 2,3} |AnB=
éﬁéﬁ/uti’j;z &5}/(1,@9:/‘(
®BIXADE T £ A ® AlX B D5 (=] AUB:{él } AN B -
B is a subset of A
BCA, ADB S ANB=AUB
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1. ﬁ@%A%ﬁf%i%Iﬁ’\éﬁ/T%ﬁ 3. ROo¥E BABIZSD\WWT ANBAUB%ZXKRD LI,
Express the following set by listing the elements. FindAN Band A U B.
av D WA avEw bA D
piE A={x|x1x6kibionkk ) f5i i
:{ |xlsnaturalnumber1essthan6} @A:{I,Z},B:{Z,?)} @A:{I,Z},B:{l,?)}
={ 7 2,3 4 5 } A B A
B = {x|x iIE@?)@{_L%I } X909 55
:{ |x is positive mu1t1p1e3} ANB H A R ANB
intersection
L h o e ey
o< 43 b Lw) I
C={x|xAED 36 DK | #0xa 10 AUB % & | AUB
:{ |x1sapos1tlve divisor of 36} :{/ 2.3 } mon
={ 7, 2,8 4 6 9, 72, 36}
B @a={12},B={12} |@Aa={1,2},B={34}
D={x|xiZ 25 U TOHEM | xio-0xi0n / B A
:{ |x is a prime numbers less than or equal to 25} 0
={ 2, 3, 5, 7, 17, 13 17, 19, 23} AN B AN B
LA B BoEA LA T
A A={x|xiZ10RiloH%RE | ={72}
AUB AUB
)
B = {x|inE@4@ﬁ§& } :{/’2}
1 Lwd )
. o 4. AP E DA BHREEEL <5 T % ¥
C :{ X | x1XIED 24 DFI3 } Express the complement of A by listing the elements.
avEw bA B
i i &4
wooh ES '4'5 Fh Ly dH ) FALlnwlw) )
D :{x | x X 15 L ‘F@ﬁ } 4 () universal set | 2 f ()
U={1,2,3 U={24,6}
A={1} A={4,6]

L5 ) YRVAN hHob
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U
) A A
Scribble the relation of the following sets. 7 2 3

nwn 7w HA N

il i 1

{2,3}) A=

5. KOSRUEIZHNT, F-ELHLOER %58,

©) : & A set A|D 2 5 A Show De Morgan's law in the following Venn diagram.
e En bA L
A={ 71 2 3]} {51 H
J— J— L - - [ﬁ)
@LM:E:B setB@L%:éB AUB=ANB#%7 %,| ANB=AUB %5,
U U
B A B B
£ = £y =
@ 21T ADHESH @ 21X BDFEFHE
2 is an element of set A Z:{ 7o }
2 €A, A32 -
£ = £y = B:{ /s 2 }
@3IEBOEFRTHRY  |[D4TADEHRTRN o
3 is not an element of set B AU B:{ 7, 2, 4 }
3 B, B= 3 AnB={3 |
éﬁéﬁ/uti’j;z &5}/(1,@9:/‘(
D3 D
®BIXADHY LG  |©®AFXBOWH K A ArB-{/ 2 4
B is a subset of A
BCA , ADB S“AUB=ANRB
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1. kot brmEs B

Express the following set by hstmg the elements.

fL) 'f hb?b

7, 2, 3, 4,

/, 3, 5, 7,

2, 4, 6, &,

L #HAT)

x| x il’fﬁ@ﬁ%ﬁ }

X | X is a 1—digit natural number }

5, 6,7, 8, 9 |

x|xiE@7ﬁ}

|x is a positive odd number }

9, -}

<o)

T1~ 100 % CoOMm%K |

| X is a even number from 1 to 100 }

£, 700 }

LT)

| X ZIED 48 DI | sox0—1s
| X is a positive divisor of 48 }

7, 2, 3, 4, 6, & 72, 16, 24, 4§ }

=
=1
{
=
{x
{
C= {x | x 1%
{x
{
{x
{x
{
{

Zm>
g
N

K
C={x|xiE1~100%CcOH% |

Ji #H

~ ?:4'5
=lx|xlE 1HTDOEDHF% }

T

N

_D::{x |x6i%é0)18(0% ;j}

L5 ) YRVAN hHob

2 %&%%9@%%%%??t%£%@ém

Scribble the relation of the following sets.

nwn 7w

il i

HA N

&

pus

@ V‘/EI\A set A
a={7,2 }
LwHZH

@ & B set B
B: @ <V£7L4vyo_ao

£ =
@ 11T ADFEE
1 is an element of set A
] €A, A>D/

£z

@ 21X BOEHZETHRWN
2 is not an element of set B

2 B, B 2

/Saéa/utyﬂi"ﬁ

® Bl Ay £ &
B is a subset of A

BCcA , ADB

B

fy x

@D1IFADEFETRN

C)A%i_B(fozg %}

BB |

$ 5z b
WOHE 5ABIZSVT AN BAUB%XRYD L,
FindA N Band A U B.

nnEn HA N

il [ &
DA={12B={34) | ®A={12} B={23)
A B A
ER IV RSV EE Y
AN B £@HH | AN B
. <£L;%o_aa
b Lwi )
AUB o & 4 AUB
{7,2,3,4}

ANB “@#ms | ANB
={2 |
AUB AN AUB
={7, 2}
Lm:'a N HoHb

?f%iﬁiméﬁffﬁﬁ

Express the complement of A by listing the elements.

nnEn YR

il il
FhoznleH ) FAtznle ) )

/jé /E|\ universal set /jé{ /E|\
U={1,2,3,4 U={24,6}
A={1,2} A={246]

>
*o
=

=
I

{34} A=

DE 7 129 #< L
ORI BWNT, F-EILTOOEA %2,

Show De Morgan's law in the following Venn diagram.
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Express the following set by listing the elements. FindAN Band A U B.

L #ad) nwEn HA N

x| x X 8HToH KK | f5i il
|xlsnaturalnumberlessthanorequaltOS} @A:{1,3},B:{3,2} @A:{I,Z},B:{Z}

=

(x
:{A2,&4,&6,Z8 } A B A B
A= {x|inE@2@{—L§5( } @ @

x

{

{

I
BE U

| X 1s positive multiple 2 } X190 REA

ANB @S | AN B
— intersection
2,%5,&} (2
bA L 0 LA b LwdI5
0 U={x|x1x 6 TFoA KK | AUB o4 & | AUB
union
{7,2,3}
v zib 75
A={x|xFED3DMHELK } @Aa={1,2},B={3} |@a={2},B={4,6}
A A B
/72 3
L3235  hAd bbb AN B AN B
2. KOk ADBIKE E TR EEE RS, _ 4 PPN
Scribble the relation of the following sets. elmpty S :t
nwe En bA D U U
51 iH g AUB AUB
={7,2,3}
i LwHIT)H
4. ADH £ A A ?f%i%ltf\é %’Ci%ﬂ’
Express the complement of A by listing the elements.
A E bA B
AR A P R Ly > ZH {ﬁu% Fln%
O&hEE U OF W g
unicersal set U + = + =
U={1,2,3,4,5] U={24,6,8]
o={ 1 2 54 ) a-{12) a={a63)
LwH ) LwH )
@EAHA set A|Q £ & A U U
A A
a={7 2, 3 ¢ } QQ:;:>34 5 Q:::)
@LyoéB st B @L;WZQB
A={3,4,5} A=
B={ 2, 3 |
FLw 55 ELw 59 125
@ ADHESR @ ADHES 5. KONVEICHENT, F-ELHYQEE % #,
the complement of A Show De Morgan's law in the following Venn diagram.
Z = nnrEn bhED
2 i Ll
ELlwH ) ELwH ) L R L
® Bo#iEE ® B oHliEs AﬂB AU B %54, B=AN B %xt,

AUB=
U
= A B A B
S Tor )l BEor
£y % 5
A

e £9 %
®31FADHESE ® 21X B0 EFHE
1 is an element of set A Z:{ 2, 4 } _
3 EA , A>3 _ _
I £5 % B:{ I, 4 } B =
D4iTBOEFETHRY  |[OLITADEHRTRN o o
1 is not an element of set B AQB:{ 4 } AU B =
#R B, BR 4 AuB={7 2,3} |AnB=
éﬁéﬁ/uti’j;z &5}/(1,@9:/‘(
® Bl ADEsy % A ® AlX BO sy £ 4 AUB:{él } 10 B —

B is a subset of A

BCA , ADB LANB=AUB
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1. ko & & ERRE Lk, Kot AoEFEE_VHICE A L, ANB & AUB %
Tlustrate the following set. b
R k&
?ﬁblj % . b n’” tﬁ . Enter the elements of the following s;itni; I:h? \er;r; (;hjgjan;
VB ‘{% va A@ | v={1,2,3) U
A={2 7 3
v A
@B , Bl @4 A@ B={2.3]
%,
U U ANB ={2} AUB={2,3}
@ AUB ® ANB A —
e U={2,4,6} U
©) { } A B
U A={2,6
@ AUB }4W B |®anB A@
2 B=1{6
U U _
AUB =
2. RONVEMNG & BEHEARY RS,
Read the set from the following Venn diagram. ol U:{ 1,2,3, 4} v
) A B
e e a=i1.2) @
O—U——— |O—U B={3,4}
A B A B
F@ 1@ ANB =g AUB={7,2,3,4}
HA D
e U={1,2,3,4}
a={2,3} A= @ U
a={1,3} A B
B={2 | B=
N _ B={2,4/
a={r} A=
B={7,3} B = ANB =
AnB={2} ANB = AUB =
AvB={2 .5 | AUB = Wi U={x| 0 45T 0B K]
@ Fng s u
@—U—— |@—U A={x|xiF 20K A B
A B A B O 2
1 2 ] 3 1 2 B={x|x %405k 7 3
3
ANB ={4 } AUB={2 ,4}
A:Q A: HAEW AN/ L HAT)
HE U={x|x1x 6L Ton Kk
B={2} B= ©) s U
A={x|x30m% A B
ANB=0 ANB = o
B={x|x6i?r }
ANB={7,2,3} ANB =
AUB={2} AUB = ANB =
AUB ={/ ,3 | AUB = AUB =
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1. RORFEST &% %2 X, 3. Ko BOEFESVRICEA L, ANB L AUB %
Answer the set illustrated below. ;é .
nwEn b T Enter the elements of the following set in the Venn diagram.
gﬂ%(]‘ H & i gFindAﬁBandAgU B.
@® A B
— A={2,3} 2 4
ol 7%, 4 oY
; , B-{s.4]
% %
— 5 — = ANB =13} AUB ={2,3,4}

®
N
o
D)
:
®
N
Q
©
o
JL
“
o
ggt’d

l k NN
|
C
|

|
c

©

=~
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o

D

o

©

N
@ Q

N
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C
o
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2. WORVEND B AEFHAID 78I, o

Read the set from the following Venn diagram. WJ@% U= { 1,2,3 } A u B
?ij% i A={2} / 3
O—U B={2}
A B
bhED
HE U={1,2,3 |
@ U
“{2.3] A= a={1) @ ‘
B={2,4)} B - B={3]
A={7,4,5} A= ANB =
B={/,3,5} B = AVE =
e o N L ¥
AnB={2 | ANB = FiE U={x|xix 4L Foa %%
@ N U
AUB={2,3,4 | AUB = A:{x|x0i§§} A/ 33
BZ{x|x6i<E?1jm} 2 4

®
s
—
w2
e
®
I I -
DO
s

o

D

o

I

)

o

(@

o
A
=

1)

[GF)

=

nviéﬁ\ U={x|x6i 6ﬁ%@év
@ EOAE ] U
ANB={1 | ANB A={x| 2132 00i) ) 2
_ tiiﬁ‘a
ANB={/,2,3) ANB B ={x| x 1% 38 0 ff%
AUB={7,2,3,4} | AUB= ANB =
AUB AUB =
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1. ko & EERE L, Kot BOBERE VIS A L, ANB & AUB %
Tlustrate the following set. b
kb Xk
R 2o bAEL: Enter the el ts of the followi t in the Venn di .
'fﬁ‘lJﬁ!‘_E U IF % U nter e elements O e rollowing S]?inl(li’lAZ Bel’;l;’lld:g:')alg
LA % OB A@ | U={1,2,3,4) U
@® { } A B
A={34 7oal ) )2
7 7 Y
@A /7 1 | ©B A@ 32{2,4}
2
- - ANB ={4} AUB={2,3 .4}
©® ANB A@ @ AUB A@ Wig U—{2.4.6.8) U
@® A B
o A={2, 6]}
- ’ / -
@ ANB |, B7| |® AUB A@ B={2,4)
%,
U ANB =
©AnE X NE) loaus A@
% AUB =
2. KOSVEND K BEHEARY B,
Read the set from the following Venn diagram. ol U:{ 1,2,3, 4} v
@ A B
b i A={1.z] ),
O —U—— |O—U B={3}
A B A B
F@ 1@ ANB =g AUB={/7,2,3 |
bAEn
HE U={1,2,3,4)
@ U
A - ()
B={2,4} B= B={2,4}
A={7, 4| A= ANB =
B={7,3| B = AUB =
ANB {2 ] ANB - WA U={x] xR0 A RE]
©) U
AUB={2,3,4} AUB = A={x|xim) A B
1) ! ’
P — B={x|x %30k 7\ 5
A B A B
F@3 @ ANB ={s | AUB={2,3 4,6}
b EN I FA L HAT)
i RE U—{x|x6i6§f€{ ) ’%%I}
@ U
ANB=g ANB = A={x|xim) @
ANB-{/.2.3) | ANB- B={x|x i)
AUB={2 | AUB = ANB =
AUB ={/ ,3 | AUB = AUB =
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1. WORRSHT B Z K 3. ROEADODEFEVKIZF AN L, ANB & AUB %
Answer the set illustrated below. %é&) I

nwn 7w

o
il
Y

Enter the elements of the following set in the Venn diagram.

W%U— il o Find AN Band A U B.

D14 B ®A%3 | U={2,3,4) U
@ A B

A={2,3} 2 4
@? B/ B ®/// ? B={4]
/. 7
— U — ANB ={3 AUB ={2,3
ola | ans @A 78 & Sk
2 ) e U={1,3,5}

®
N
@Q
®
&
N
©
N
||
3
N
Q
g bd%

AUB
B=:3,5
/) {3.5]
— U — U B
AUB =
oF 7 Lwd ) & 5
2. RONVEMNG & AEHEHBD RS,
Read the set from the following Venn diagram. il U= { 1,2,3 } U
e AR @ A B
{71 3 [ A={2} 72 3
@

(ol
il
5

N
Il
o
N
Il
S)

a={0,3} A= ANB =
B={0,2,3} B = AUB =
AnNB={2} ANB = T SRR
il U={x|x6i6L‘ ToH }
® T U
AUB={/,2 | AUB = A={x|x6i2@‘{i%)r} A B
) / 2 3
> U > v B={x| x % 3 0 fk 4 5
A B A B
4 1 1 3 ANB ={¢ | AUB={2,3,4,6}
3 5 2 oA L v LAt
M U={x|x6i 4 LT D 5*%1}

_ _ ® U
ANB =g ANB = A={x|x6i2@?%i} @
R R (=SR]
ANB={7,3,4,5} | ANB= B={x| x 1% 4 5%

AUB={7,3,4} AUB = ANB =




